tHH S BVt

L. 6<vBa2 <100l HT of, A 2 o] F& =F 6. V2x3x7 xa 7t A5} H7 5 M Fe
otefet,

A4 o & SHAH?

@® 2 @ 3 ® 6 @ 7 ® 42

2. g3 AFEE TS S gl FE LT I2]? 7. 92 A Fa=4-V7,b=2,c=4—-V82 A
TAZ 2 AL2?
®© -4 @4 ® -2 @2 ® 0
D a<b<e @ a<c<b @ b<a<c
@ b<c<a ® ec<a<b

3. 2<Vz <32 UEStE A 2 o A

Fatelet,

i

8. TS B F$S AL E N2W?

H7]

@ 3 9] 9] AlFEe /-3 °|th

e> 19, 1P - TP o
Tstolat,

=
filo

© V25 =5 o|th
© AFL 16 & 4 o]t
@ (-3)% 9 AFZ2 3 ot

® 22 =a °|H z = \/a °|t}.

e 1ol T AAzHEel wolrt 27t 12, 27 &

T ® 9,0 @ 0,0 ® 0O,
o, AC 9] Aol & oteizt,
R @ ©, @ ® 0,00
B
9.
\/W(3\/§)2+\/§<\/@+ \/D%{P‘&ﬁl
C SFHA?
@ o @1 3 2 @ 3 ® 5
® 3v3 @ 42 ® 5v3
@ 62 ® 9v3




® v0.3=0.1a
® V300 = 10a
® v0.27=0.3a

11.
V10 9] 2AHES 3.162 2L

st

@ 1.2648

@ 1.8972

g o, o2 ALt T 22 AS
@ 1/0.03=0.1b

@ 1.581

® 9.486

@ /30000 = 10b

H7]
@% © = © 0.
@ Vv2-1 @ V5 ® V24

13. o= & 2 Axt 23 22

S 2v/3 ++/15

V3
© V75 +2v/5

V5

14. \/0.002 = AV5 & o}, A & F3toiat,

15. V15 x V6 x V8 = a5 € W, a 9 3-& F5}tozt,

16.

17. A=3V3-4,B=yV12-24,C=BV3+2¥ d,
A+ B+ C9] & oot

18. thg 17olA AZFABCD & & o]
HAzZFgoltt, A P ol thate 47}
AC—1AQ, DE=BP < 1, A Q ol

D C
Y 0
P A B Q ”
D 5-v2 @ 5-2v2 B 4—2
@ 4—2/2 ® 3-2v2




19. A4 n o tisted]
olgt & of, £(1)+
HEsHE n o]

Vi ©]
5@+ 1)+
Foto e,

af+bﬁ°

a, b= FEF ] )

22,

sho) zpei4eo] 4

= f(n)

o+ f(n) =161

o a+b—l He ?3@43}. (&,

ﬁ;mﬂﬂh%—%ﬂ@ﬂ@ﬂ%%%
Fstolet.

23. 4 < /z— 1] <5 2 WIS B4 0 o] Fe BF
Zro} 1 g Totole}

24.

25.

VB x3y/a=15,v3xvVb=6,v243 =c¢v3 & 1,
T4 a,b, ¢ 9 F abe 9 7H2?

® 60 ® 54 C>%

@ 3v6 ® 1

V2=z, 3=y <, 55 xyE et
AoR &2 787

O z+y @ 2%+ 92 ® Tty
@ at+yr2 O Jxy




